b Profeiinl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 05th Mar 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

learners. / 3ITST &Y $&rraﬁﬁ' 3Ad ﬁr&nﬁh‘rm

1) Today’s classrooms how welcome

WA gl 2l
1. Talented / UTfQHTRATS

2. Diverse / fafaer
3. Gifted / Ufar8TTerelt
4. Special need / Taf® TG

Correct Answer :-

« Diverse / Tafasy

2) Short term deficit of sleep affects learners by: / siig &Y sreara i waA Rranfiay # wsnfaa
FCATE

1. increase in weight/ Wﬁq@

2. increasing the risk of diabetes/ HW DT YT d&edl

3. weakening immunity/ SR TfAL&TT

4. reducing concentration and memory/ TehIIAT 3K F{% DI HH BLAT

Correct Answer :-

« reducing concentration and memory/ TehTIIT 3R EH T Pl HH HIAT

3) Inequality in education has been reduced in India due to: / {R # fRY&T & 3rHATATT AAT A
¥ 5T FRUTFA A T §:

1. Religious intervention/ GTf3Ieh g&d&Iq
2. Social Reforms/ AT U

3. Constitutional provisions/ EIUTIA® UraeTe



4. Cultural diversity/ HIEHTdD fATaadr

Correct Answer :-

« Constitutional provisions/ HAYTfe Traere

4) NIOS is an example of __ agency of education. / TATSHTH, famm &Y Tt
FT TF 3GT80T ¢

1. non formal / 3R-3TqaTiRe®

2. formal / ATTaTRREH

3. NGO / GSffafl

4. informal / SRS

Correct Answer :-

« non formal / A-3g=nie

5) What are the family and community resources that children can draw upon collectively
called? / ¥ qTR@ER 3 Foferfie waTere Fa1 §, e W aeo aofes w9 & nsfla gt aad
82

1. Membership capital / GGEIdT C@ﬁ
2. Structural capital / ERAATCHD Cﬁﬁ
3. Fiscal capital / TSTRIGIT q\Gﬁ
4. Social capital / HTHATTSTh @

Correct Answer :-

« Social capital / HTHTTSI Gl

6) What are the ways to engage students in problem-solving strategies & extend their thinking?
| FHEAT Y AT Y WA 3 ST Y et FA 3 3T AT Y 30T Tg1 & a{d F41
8?

1. Use of concept formation, inquiry & synectics / STTURUT IS, TSATS 3R et @ suAeT

2. Addressing questions again & again/ SR-IR U Pl T AT

3. Talking to friends nicely/ GIEAT & 3T A ITc AT



4. Giving them extra homework / 3¢ 3R HEIAT B T

Correct Answer :-

« Use of concept formation, inquiry & synectics / STTYRUT TS, TSATS: 3R T3t &1 3ueT

7) What type of reasoning is characterized by moving from the general to the particular? /

W#ﬁﬂwaﬁrmm?mwaﬁ#aﬁ%ﬁwmmﬁ

1. Transductive reasoning / GRITH Ieh (giasquEq =it

2. Inductive reasoning / 3ITHATCHD s ($'I?':‘3CJ-CCI d=ifaa)
3. Deductive reasoning / fasTaicas d (Bsfdea fafeiom)
4. Hypothetical reasoning / UTdreheUcTcHh s (REEIDIGEEUSIGE)

Correct Answer :-

« Deductive reasoning / f@9TaTca® o (Bsfdea e

8) What is the part of memory that stores information that one is not consciously aware of? /

Tl T TE HIeT AT ST &, S T FIAT FITEHT FIAT & FoAeTeh! T T § SAAHRY €T el &2
1. Dual memory / &l €T

2. Explicit memory / TUE THIA

3. Implicit memory / Hﬂﬁﬁﬁ E{ﬁ

4. Conscious memory / s H{ﬁ

Correct Answer :-

« Implicit memory / safafea H{%

9) What is the phenomenon wherein previous exposure to a word or concept makes later
recollection easier? / 9§ €I 4T ¢ wa e ereq AT HTURON & g4 & HIF & T F 915 H1
FTHIOT 3T g ATl 82

1. Priming / 9IS {3HaT

2. Deriving / ag?ﬂﬁf

3. Subliminal perception / 3Tddel Tca&fIIehToT
4. Subconscious memory / Haddel THId



Correct Answer :-

« Priming / ST& 3T

10) Children are asked to narrate a story during the administration of which test? / e adtam
& waTee & GNIT qoa1 $T FETAT GoATT & T g7 oren §2

1. Children’s Apperception Test (CAT) / STel-3Tecial <] U177 (FTLY)

2. Minnesota Multiphasic Personality Inventory (MMPI) / faATeT FeEIth ol TdcTolel Sdedl
(THUHAUIIS)

3. Wechsler’s Intelligence Scale for Children (WISC) / da€eRR Sc¢foroic Tohel B [es

(FeogISTHEN)
4. Thematic Apperception Test (TAT) / fauT-3TcAag= T&ToT (1T

Correct Answer :-

« Children’s Apperception Test (CAT) / STel-3TedaTel GLI&TOT (HITET)

11) Learner autonomy is a characteristic of: / fvamreff Taraaar g $r fadwarg?
1. Formal education / 3iTqamfes et

2. Traditional education / TRUT fRy&T

3. Progressive education / JaTfarefTer frer

4. Inclusive education / THTARY TRy

Correct Answer :-

« Progressive education / JTfcrefer fremm

12) Raven’s Progressive Matrices Test measures: / Y37 %T WA Afew ere AMGaT §:
1. Intelligence / gi?

2. Personality / e Tthcd

3. Attitude / AT

4. Motivation / QIO

Correct Answer :-



« Intelligence / @

13) According to Piaget, children’s development is progressing through 4 stages. /
e & TR, T=a 1 T 4 ot & ATeTT ¥ waTfy W TET B

1. Physical/ #ifd®

2. Emotional / HATIATIHD
3. Functional / EFI'CﬁT{o‘:I?F
4. Cognitive/ IJTH®
Correct Answer :-

« Cognitive/ IIMTH®

14) Many people who were alive at that time remember exactly where they were and what they
were doing when they heard that Rajiv Gandhi was assassinated. What type of memory is

displayed here?/ﬂ%mmﬂmﬁﬂgﬁ@ﬁﬁ?mmﬁmﬂaﬂgiﬁm
2,3 AF A IS fF T Fel TAR T FATF @ T | T@T v 9w Ay Tpfer gt arg @2

1. Flashbulb memory / Cﬁjaﬁ A
2. Declarative memory / BIVUTIcHS TH I

3. Sensory memory / TdGl H{%
4. Semantic memory / 39T T

Correct Answer :-

« Flashbulb memory / G@eITa Tfa

15) Learners are not included under “Exceptional Category”. / fRranfd=i ¢
FqaTETeHS A0y & Iedta enfAer 8t faham Smar|

1. Normal / HTURUT (AT

2. Retarded / g (Re1és)

3. Gifted / UfasRITeT (IFee)
4. Slow / & (Helh)

Correct Answer :-



« Normal / HTUROT (ATTe)

16) If a learner has difficulty in reading, then what type of learning disability? / Ife v fRramedt
P TG A FISATS gl &, a7 30 FFH TR A 3109 raTAar 2

1. Dysgraphia / f3gamithar
2. None of these / 37 H PIS el
3. Dyslexia / [3€clfraar

4, Dyscalculia / %W?—Fgﬁf&ﬁ

Correct Answer :-

« Dyslexia / Brafdaar

17) An infant takes time to distinguish the father from other men. This aspect of development
happens because of the following principle. / Teh fﬂ'{[ I ar = 3= g'{?‘ﬂ' ¥ I A H AT
T 8| T #1 9g Tiewior e Rigwia & FRoT @A 8|

1. Whole to Part / C[Uﬂ' q 3

2. Centre to Periphery / thg, & ORI

3. Part to Whole / 311 & ‘{U‘f

4. General to Specific / @Y 4 fafdre

Correct Answer :-

« General to Specific / G & fafre

18) The famous physiologist whose work on classical conditioning influenced the field of child
psychology is: / 9fager aR-f3Far fawmsit (Reforaaitoree) foraes e Tl (FATHS
Harerfen) 9T fHAT 11 FF a1 AN & AT FY yHRT FIATE, T8

1. Edward Thorndike / TSd$ UTeisTSh
2. Wolfgang Kohler / aTethaaT PhlgeR
3. Jean Piaget / ST fUama

4, Ivan Pavlov / SdTel qradlid

Correct Answer :-



 Ivan Pavlov / SdTd UTaelld

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws of
learning? / FgTad “Teh HHAAT & d1G e AHoAT fAed §1” 3T & fore s o amg ghar
&

1. Law of exercise /37919 & [T
2. Law of readiness / dUdT & fHT#H
3. Law of effect / THTT & AIH

4. Law of success /AHoldT & [IH

Correct Answer :-

« Law of effect / UHTT & fAI&H

20) The characteristic of behavioral objective is: / STdgIR® 32?&11' I Fdware:
1. None of above /Wﬁ@faﬁéaﬁ

2. Observable and measurable / 3dalha 1T 3R TRAT

3. Observable and Immeasurable / 3dallhad R FATHT

4. Non-observable / IR-3aclleheii

Correct Answer :-

« Observable and measurable / 3Tdelichaid 3R TRAT

21) Which of the following is a Humanistic view of motivation? / fAFfaf@d & & 9om &1
AATATATar T fSehIor 47 82

1. Need for self-esteem and self fulfilment / ITcHTFATA T ITAIDAT 3T 3TcH F[m
2. Beliefs, attributions for success and failure / 9O, THIdT BT AT 3R 3 wear

3. Goals, expectations and self-efficacy / o1&, 3G 3R AT THTIRIRAT

4. Incentives, reinforcers and punishers / ISIERE , g¢ ,Cof.hdcl 3R gus e aren

Correct Answer :-

« Need for self-esteem and self fulfilment / HTcHTFHT I HTAIThdT IR HTcH JiA



22) How many primary stages of development are present in Kohlberg’s theory on moral

development? / Afas R W Fieraet F Riguia # R & fraer wrafas wor #Algg §
1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / F AT frar @
wsft geat & daa A awar @

1. John Dewey / At éﬁf

2. Freud / BIAS
3. Friedrich Frobel / %gReh Wied

4. Maria Montessori / ATRAT HAleca)

Correct Answer :-

e Friedrich Frobel / s Hiae

24) are creative skill practice books for children for the enrichment of their creative

thinking. / T B TP 9 & "Haedq & e FATes Sivre A & i s g1

1. Enrichment books / HH{g W
2. Idea books / fTaaR ‘{B?I%ﬁ

3. Integrated books / Tehlehd ‘I‘vT‘ﬁF

4. Creative books / {dellcHD T&d &b

Correct Answer :-

« Idea books / TR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: / “ufeyw

T A & UG & TG @RUT H Y UeH § -



1. Family / URaR

2. Parents / ATAT-TaAT

3. Primary caregiver / WTAf3® Terae

4. Teachers and peers / 18T 3R Fgurér

Correct Answer :-

« Teachers and peers / 18T 3R FEurdt

26) The passion for doing anything in the absence of any compulsion or reward is ./

PR MaamasmF oy dgs s SITH_ 2l
1. Intrinsic motivation / S hITT JTRUIOT

2. Extrinsic motivation / TTHTToTeh 3TTRUIOT

3. Achievement motivation / 3TclTe¥T UROT

4. Level of Aspiration / 3TehI&TT T TAX

Correct Answer :-

« Intrinsic motivation / < ThaTa ITTROTOT

27) Which of the following is NOT a form of misconception? / fFafefaa # @
U TTdd YR 8] 82

1. Vernacular misconceptions/ HATJHTHT frear g@'

2. Cognitive conflicted ideas / H<TelTcdd TREW AT faar
3. Non-scientific beliefs/ 3Td=ATTA® ATeIATT
4. Preconceived notions/ G@TIRT g

Correct Answer :-

« Cognitive conflicted ideas / HTATcHD TEWR Ta TaaR

28) Who strives to answer such questions as well as to understand, explain and
predict behaviors that occur throughout the lifespan? / Siaq R §11 a1d a8

P FHA, JHH 3R HiTwarfl $313 &1 1A $31 & J1Y-91Y TN aTdl & Sia1d B
ear8?



1. Developmental psychologists/ fderaTcH® FAIdATAD

2. Vygotsky theorist/ AT FAGITPR
3. Fraud theorist/ SN@TSY faaeh

4. Erikson theorist/ TRehTA Iri\-lfs\idml{

Correct Answer :-

« Developmental psychologists/ TaepTaTcHE AATd=TTAD

29) To motivate an auditory learner, the teacher should encourage him/her to

./ gaur fRrenfdal & ia s & forg, Riere o I Wieafed s afge &
|

1. use reading material in small units / SIET SRISTAT H TS FTHUT T STITIT Y |
2. participate in club activities and skits etc / Feld T ITATATAAT 3R ATed (Fave) 31T F HI9T |

3. participate in discussions / a1 & giFafoa ol

4. use coloured pen and highlighters while studying / EIETSE BRI AT T Had 3R HENECREAR R
Gyl

Correct Answer :-

« participate in discussions / Tl & iFATed o

30) The effective learning as per Piaget’s theory is . | T & Rrgia & SR yyrd
rftrma 2l

1. content acquisition /W L CING
2. root memorization / H{el ITq ILAT

3. active learning / TTeha 37T

4. reading by heart / TehIIAT & UG

Correct Answer :-

« active learning / TTehd 3TTAITH

Topic:- General Sanskrit(L1GS)

1)



Grgd g’ SO faoaaTT o 2

=3 N [
lmﬁﬁﬂzl

o AN
qi<d: 999 |

2.
=3 AN .

5 Hiad ™ [d99: |
= © .

\ Hiadd 9949 |

Correct Answer :-

. l:||i=3|l:l|:
2. qa_l.:



‘TRl 3id FRATIEE H1d: &t 2
L

RN |

2.
939 |
3.
93t |
4,

Correct Answer :-

4)

T RITETSg: T+ 319 -
| GRFHTCANTH.

- HRTUEEH |

| SR |

- TR |

Correct Answer :-

4



TR RART:
1.
N S
TSI
2.
.
EPERINE
3.
=,
CISISEIRRINE
4,

4,

Correct Answer :-



8)

PTSRIceh 96, o -
| e,
TR |
3._-['?-_‘:":_1:[\|
4.W|

Correct Answer :-

9 e~ ~




11) . . ~ . .
‘ITE A HreTH’ 503 ‘A’ 2ee &4 f6H 2
AYEF — UIHT - Thaa |
1.

TIEE — TgdET - U |

2.



3. |
) q o - T&aiaT - Ushaad |

Correct Answer :-

7T

| GraTRITed |
, STHHTESH |

Correct Answer :-

_ FSHTE |



14)

"THUT 10 BT ST 595 A0 Sidl {oh FIGHH, ?



YR

4,

Correct Answer :-

) =,

) =,
I

4 [ =

Correct Answer :-



. QiaTH |

Correct Answer :-

ITROHERAH |

P o 3 FraTaee O F 2
e

kot

E

|

4

Correct Answer :-

39|



Correct Answer :-

20)

. ’ o
i A AY: e ?

) Wz‘iﬂ%hl
2.W=ﬁa”
, T
. W:ﬁﬁ:l

Correct Answer :-

Fecal: I |

Correct Answer :-



14



2

4) . i =
YIS G R ¢ 739 ?
a:[ O =,

, |HEg

| GEFANARAH,

R GIEN

IR ERAH |

3

. L e |
HIAERITATHAH,
4,

Correct Answer :-

GRIFHERTH |



| 9= = |
| T e |
A9 98: |
, 9T S |

Correct Answer :-

28)

T e 9 /- AR Tl Figue R 2



1. i |
AN
UH: |
2.
TH: |
3.
4 RIS |

Correct Answer :-

| AWTE: THUEE: | A4 |
) AFTS: THIE 99: | ¥49id |
| W& T &8 7 3w |

) AET: QO 89 = 940 |

Correct Answer :-



411’73|amiz|

Correct Answer :-

L

LEEIESLE

Topic:- General Hindi(L2GH)

1) @1a1 bR SRI W, Il v |
e g At a1, IS R siw

AFAIRIGR U I g1 B BRIl
qHarhd gobdl it 3F IST 3 7 1|

ST UL Bl UgHR -4 TR Y UY BT IR JaIsd:
- ‘e’ BT I g /182

1. hdel ol

2. haol 3T

3. SO @A

4. dae faoter

Correct Answer :-

o IWIP T

2) Frar fbr SRAY v, IAfE T W)
e g At vy, IS s siw

AFERIGR GUR T §T ST BRI
YHarpd GohdT git 3d 31 3Fd 9 A1 |

ITYT TR ) U - D T UY BT ITR 134
- ‘AT’ XS 82
1. facem



2. dcaH
3.dsd
4. &2

Correct Answer :-

: 3 &l
, ARAaTaET Y APHT A FAT gEAT & WY
2?2 &t IwlE H 3¢ guar adt Rar Sar? Fur RE @t 9, aR W geEd & Qe q@ew @ § A
AsF FA F § A ¥ Asré-eersr A FRQ, IR A gAw a7 @1 A § R s agem §1 Far o @
q g & reel & Ar FA & I T $T FT FOE IWT F AT A AT Y AR—E FIT FgAA o]
S Y B e g T @ A F 3@ FUR A g5 afadt & AT 741 > AfFT T F1 v Ser
ar$ 3R o B, S A FH & oar ¥ AR Fw I O IS A g wur o W E, Fo W A
frea-gera 3 & afdar & @z 1 ot A A 1 FT A 9 B A Jagh F gEAS FE A, TR

AT AER T a8t &1 S Fft-wely Awar of &, Feh-wft wfPue o off dwar A amar §1 3k ot w5 HfAAY
¥ IHYAT FAA THe HT &l €, JATT 3HFT T T & +=m gl

39T AGHIT T YGH AR S AT G HT 3R TA34:

yee- el 3mea Y AP F FE TR ¥ g Sar §2
1. T

2. HIST

3. gl
4, grefy

Correct Answer :-

o JITYT

4) SFERI § YT I TSI JFSE T TS 1T 7 1 79 W fhadt et # ugd oo 1 S95P HET Ued |,
A 3R YT FEd &1 YT T A9 € 91 ITP WU, P! FAR1UG FiRwEr 7 39 98 uedt § Y 8, g
frerg &Y fpar w1 wepar| TR W ARG €, T g T Y e € Rig BT 0 4R B At 1 o oft
9gd TR TR g, afed F-0 I oft sy o &t wmar 8, fog 719 &t wft sy wvad 18 g, 9 3@
foraa T8l T ) URY, TR o TR1E, TS g3 9T ITHA 3T 6, ISP A8 W HH sty Ft o1 oft a8
foarg 3| 3vre A 91’ Y 9R FAd B AdT 8, W FHA d@) I/ Fft g g 78 @M IHS AW W WS
faure Wl v & o/ B 81 gE@-3:, gi-ary et of qun A 3@ sqad 76 dan wivay-gfva & o
T §, 3 goft ST WRISTY H) UE T §, W 3ATeHY SA I95 P Hedl @ | TGO BT g1 3[TER! Barfrd



HreTo TER ¥ oY Suged I8 81 AT A, URaarREl Y snpieT § T g 8 6 82 Tt srmdieT df 3%
g 18 faar Sirar? dur IR1E 8 i, IR 39 $ung & e a9 wd §, oft dise) a1 ad €, feedt @
ASTS-FATST 78] Hd, IR 91 ISR T W7 o1 € fbR ot Igar §1 Fe1 oirar 8, Q Sfiaq & smexf &t =
P 81 3R 3 S BT a1 IR F 71 JG 919 ) TS 939 Hga a1d | SIu= $t e 9 81 v 6
faora 3 3/ TR ot g Srfaal A 7ug 597 faan | e 71 &1 T Ster uig iR ot B, S 39 Hu d e g1
3R 98§ oo | form ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o 7 'afar & arey &1t yam
Fd | PO AT A9 P! MG 9B B! & FAIE Fa9l, TR gURT faar T 181 31 9a wult-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél 3R ft F Al J AT SRIAY UPpe PR AT 8, 3aUd IHBT R
T |

ST TR F UgHR 12 IR Y Uy HT IR gaTsd:
U=H- ST 9 | areud 32

1. gieda I

2. gigaa I
3.5 ¥ PIS AL
4. TS ool

Correct Answer :-

. T T

5) SIFER] | T T4 SUTST §fe 1= THE STl ¢ | §H 79 [l 3MaHt ) Ugd aof T Sagp® Pl d1ed ¢,
al S T HEd 1 T JIHT 999 @ AT TP WA, IqH! FFRTug FRWET A 32 98 uedl ¢ &t §, 39t
Hrerg =81 forar S wran | T WM AR €, SAdh g5 T @ oA g Rig BT U YR HR At 71 F o
g4 TR 9 8, afed F-0 I oft sy o § wrar B, fpg 71 3t wft iy wwad 78 g, A 3@
fra 918! e 3 AR), IR SRA TRE, TS §F 9 ArA 319 o, SUP Aoy W HUt sRiaiy & orar off gt
s Tt Az W AR UHTY IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg wirdt =u @ BT T 31 g@-g:F, i-ary e ot qun § 3@ geuad 7@ <@ wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UgT TC §, W 3TeH I I95® Hgdl &1 U T SaT 3FTGR! BT
WUTT FOR S RIT Iuged & 81 IRT 7, WRAaTRar Bt avpiet & g1 goun &) @ 82 7 st § 39
g g faar Siram? dur IR1E 81 i, IR 39 ung & fIe 9 wad g, oft dise) & od €, feedt @
ASTS-ZATST 78] B, IR T DR TH W7 o1 @ fbR ot Igam &1 Fe1 orar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T W o1d ) UG [ Hgaq a1 | Srar s e 9 g1 v &
faorg A 3V TR Ft g sifaal A 7oy 9471 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S S9E FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Frera-gera ord A afvar & arsy &1ty
FXA 1 $T AN 39 B MG 9@ B! H TIIF B9, TR FART TR Tar 7 21 97 Hfi-w ol arar oft 2,
aghéfﬂﬂgg%uaéammﬁﬁm%laﬁ?mw{ﬁﬁﬁﬁmmmm%mﬁ,mmm
T |

ITYe T 61 USH A YD T ¥Y BT I Td133:
ueH- 3fSue # Uy 82

1.3

2.

3. 91

4. 3ol



Correct Answer :-

6) SIFER] | YT T SUTST gfga 1= GHS ST 81 89 oiF fHA) el #1 ugd of &1 Ja5® He-T dred ©,
@ SV YT Bed T T TIHT TP P § U1 IUP VAT, ITS FRIUS AR A SR 98 ved S § 8, sHdT
e Y far o wwarn A AT AR 7, srE 83 T 9t M 81 Righ &1 TU 4R HR A 71 par o
9gd TR TR 8, afed F-0 I oft sy o § wimar B, fog 719 3t wft iy wva 8 g, 9 3@
=T =reY T F ARy, 98 Ok W19, 91 g3 U 9T ST9 &, 39 de¥ R H sy it o oft At
s Tt Izma ¥ 918 THTY AR $AT R AdT 8, W THA a1l 3@ H G B T @1 I AT W RS
faure Wl v & o/ e 81 gE@-g:, gi-ary et of qun # 5@ sqad 716 dan wivay-afa & o
01 €, 3 9t S WRTHTET B UgT T §, W 3MeHI IH I9G® Hedl & | UGIUN BT 5T 3FIeR! Harad
Hremo TOR & g Iugad w8t 81 AT 7, URaaReal #t snpier & war ga=n g 36 82 | st #f 3%
g9 8 faar Sirar? dar TR1E T8 fi, IR 39 $uug & e e wd §, oft dise) & wd €, fhedt @
ASTS-TST Tl R4, TR ITd B 7T @1 91 @ e Wt s &1 w1 wirar B,  Siaq & sime=f & far
FRd g1 3R d 3¢ BT FATd TR A T WG o1d ) G [ Hga ard | S ) Frara 9= g1 v &
faorg A 3Q TR Ft g sifaal § 7oy 9471 far | AfeT 18 1 U Bier Uig 3R oft 8, S S9E FH S e gl
3R @5 ¢ der | fore o & g6 TTUT BT T4 HRd &, $O S ¥ fHerd-gad o A afsar & ars' &1+t wa
Fd | T AN A9 P! MG B! § G9E Feal, TR gURT far T 78 1 9a wft-aft arar ofi ,
m&ﬂéﬁ%@uﬁaﬁaﬂ%@%ﬁm%l R oft S At F 39T ST Yebe FR AT B, 3T SHHBT R
T |

ST TR B UgH 1 U Y UY $HT 3R JaIsd:
WH- HSIUN P T gl 22

1. GFATA

2. URIET

3. faeno

4. ATeX

Correct Answer :-

7) SHER A T JEA SATST JISE A W11 71 79 o9 fhaft el B ugd g &1 9% W HeT ATed §,
Al S/ YT HEd T 1 YT JIYT 995 @ T TP WA, Iqat FFR1ug TRWET A 37 98 uedt ¢ & 3, st
frera €Y fpar 1 wepar | TR W AR €, 1) € T Y e € Riwd 1 w0 yror #7 adt 71 o oft
g4 TR TR 8, afed F-0 I it sy o § wrar B, fpg 71 3 wft ey wwa 78 g, A 3@
= =Y e Y ARy, Gre SR TR19, 9S) g3 9T T ST9 &), 39 de¥ R FH syt Y o oft A8
fearg 31| e & AR THTY IR $Ad PR AT €, W HA df 3@ Y G g 8T @1 IqP e W RATE
faurg T v & o1 T 81 gE@-g:, gi-ary o gun A 3@ sgad 76 dan wiay-gfva & o
701 €, 3 Tt I WRTHTET H1 UgT T §, W A IH I9FE Hedl 8 | TGO BT Fa-T 3FIGR! Hard
Hrero HR F Y Suged e 21 AT A, WRAaTRia) 1 Pt A w1 g 8 6 22 i srrfieT § 37
g g faar Sirar? dur IR1E 181 i, IR 39 $ung & fIe 9 39d §, ot dise) &1 od €, fhedt @
ASTS-FATST 78] H, IR 91 DR TH W7 o1 @ fbr ot ggar &1 Fe1 oirar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT a9 TR | 71 WW o1a a) Ug [ Heaq a1 | Sra &) Frara 9 g1 v &
faorg A IV IR F gg sfaal A 7oy 941 fear | e 19 1 TP Bier WiE R oft 8, S SuE FH S e 8l
3R 98§ oo | for ordf F g9 T &1 YA $d B, $O S A Frera-gera o A afar & arsy &1ty



HA &1 O A I B! UGS I9PH! | JAAY HeI), IR FART =R Ta1 761 21 3 Fft-waft Arar o ,
assﬁéfﬁﬂg%%uaaﬁma@ﬁﬁm%l 3R Wt #E Afaa | 31T SRIAY Yo B 3T 8, 3Idud IHPT ™
T |

ST TR B UHR 14 T T UY HT 30 9d154:
U=H- SWIad e H frd saR &1 fore =18 gam 82
1. 3T

2.’

3. 9141

4. el

Correct Answer :-

8) SRl ¥ YT WA TSI JFSE T T W1aT 3 1 79 oF fhaft Srrett &1 ugd ol &1 S95P HE-1 UTed §,
A 3 YT FEd &1 YT TIYE I9E P € 91 ITP WU, TS| FR1UG FRwEr 7 3 98 uedt § Y 8, g9
frerg &Y fpan w1 wepan| TR W ARG €, T g T Y e € Rigd BT 0 4R B At 1 o oft
9gd TR TR g, afed F-0 I oft sy o &t wimar 8, fog 719 &t wft sy wva 18 g, 9 3@
foraa T8l T ) URY, TR ok TR1E, T g3 9T JTHA 3T 6, I9P A8 W HH sty Ft o1 oft a8
foarg 3| 3ve A IR Y 9R FAd B AdT 8, W FHA A 3/ Fft g g A8 @M IHS AW W WS
faure Wl v & o/ B 81 gE@-3:, gi-ary et of qun A 5@ sead 716 dan wivay-gfa & o
T §, 3 goft STH WRISTY H) UE T §, W 3ATeH SA I95 P Hedl @ | TGO BT 3T 3[TER! Barrd
HreTr= TR F oY Suged T8 @1 AT A, URaarREl  npieT § T 3o 8 W 82 Tt sdieT df 3%
g9 8 faar Sirar? dur IR1E T8 fia, IR 39 ung & e 9 3d §, oft dise) a1 wd €, feedt @
ASTS-3TST Tl R4, TR T4 B T @1 91 @ bR Wt g &1 w1 e B, 9 Siaq & sme=f &t e
FYd 81 3R d 3¢ BT AT YRR F 3T VR S1d TG §3 HEA aTd | AU B e ara= g1 T ot
oo = 39 SR @1 Jw sfaal & v 797 faam | Afee 19 &1 v Ster uig o7 oft ], o Suw & § e B
3R 98§ oo | form o F g9 T &1 YA $Rd 3, $O S A FHrera-gera ord 7 'afar & arey &1 ft yam
FYA &1 TS AT A9 B! WIS I9HWB! & TAAT Ha 11, TR FART faaR Tun =16t g1 39 Fuft-aft arar ot 3,
$5ﬂé$=ﬂﬂ2%%craaaﬂﬂéwﬁﬁm%l 3R ft B Al F AT SRIAY UPHe FHR AT 8, SAUd IHBT I
T |

SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
wA- T | foraeT R i 9 S § 2

1. 9

2. 3

3.9

4. dl

Correct Answer :-



9) SIMaR! # TUT WA SUTET iGel- THS oIIdT & | W oId il 3Tt &) Ugd aof T Ja@® He-T1 a1ed &,
A I TYT PEd &1 YT TIHT 99 ¢ U1 ISP U, P! FARTUE RWEr A 3¢ 98 ugd § & 8, sHPT
frerg &Y fpan w1 wepan| TR W ARG €, T g T Y e € Rigd BT 0 4R B At 1 o oft
gd TN AR 8, Afe Fft-ft 37 oft e 3 € oiman 8, freg 1 3 waft e R T g, 7 S
foraaT T8l T # URY, TR ki TR1E, TS g3 Ut JTHA 3T 6, I9P A8 W HHY sty Ft o1 oft T8
fearg 3h | o & AR THTY IR HAd P AT €, W HA df 3@ B G g 8T @1 IqP e W RS
faure Wl v & o e 81 gE@-g:, gi-ary et of qun A 3@ sqad 76 San wivay-afa & o
701 €, ¥ Tt A WRTHTHT H1 UgT T §, W 31 IV 39 Hedl 8 | UM BT Fa-T SFIER! Hard
HreTr= TER F oY Suged I8 @1 AT A, URAaTREl F npieT § T 3o 8 6 82 Tt srmdieT df 3%
g g faar Sirar? dur IR1E 8 i, IR 39 ung & e sure) wd §, oft dise) a1 wd €, feedt @
ASTS-FAIST 78] H, IR 91 DR T W7 o1 € fbR oft Igar §1 Fe1 oirar €, Q Siiaq & smexf &t =
Fd &1 3R q 3¢ BT a9 TR | 71 W@ o1a &) UE [ Heaq a1 | SrarH &) e 9 81 v &
oo = 39 SR @1 Jwg sfaal & o 947 faam | Afee 19 &1 v Ster uig o oft 8, o Suw & § e 3
3R 9% 3 'de | o ard A g9 TUT BT YN HXd &, TO S A Frerd-gard ord F afar & a1 31 ot v
Fd | T AT A9 P! MG 9B B! B FAIE Fa9l, TR gURT faar T 181 31 9a wuft-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél IR Y < Hfadl V SUAT ST UPHe HY a1 ], 3AUd ITDT R
T |

ST TR B UgH 1 U Y UY HT 3T qa1sd:
- J9-g:@ | B I GAN §?

1R

2.8
3. dcgey
4. agelfe

Correct Answer :-

10) SFERY § U7 WA SUTST §iG ST THS OI1dT 8 1 4 o Tl el &) uga & T Sa@® He1 aed 8,
Al S T HEd 1 T JIHT 999 @ AT SHP WU, IqH FFRTug FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 foran S wrar | A WM ARG €, SAdh g5 T @Y ST B Rig BT U YR B At 71 F o
g4 TR TR 8, afed F-0 I it sy o § wrar B, fpg 71 3t wft iy e 78 g, 9 3@
fra 918! e 3 AR, IR SRA TRE, TS §F 9 ArA 319 o, SUP Aoy W HUt sRiaiy & orar off gt
TS Tt Az W AR TP IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg vt =u @ BT T 31 g@-g:F, gi-ary e ot qun § 3@ gead 7@ < wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UET T §, W 3TeH I8 I95® Hedl &1 U T SaT SFTGR! Bl
WUTT FOR S RIT Iuged & 81 IRT 7, WRAaTRar Bt aspiet & g1 goun &) 6 82 7 st § 39
g 8 faar Siram? dur IR1E 81 i, IR 39 ung & fIe 9 wad g, oft dise) & od €, fedt @
ASTS-ZATST 78] Hd, IR 91 DR TH W7 o1 @ fbR oft Igam &1 Fe1 omar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR F T W o1d ) IS [ Hgaq a1 | Srar &) frara 9 g1 v &
faorg A 3V TR Ft g sifaal § 7oy 941 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S 39 FH S e 8l
3R 98 ? oo | Form ordf § g9 TUT &1 TN $d B, $O S A Frera-gera 3 A afar & arsy &1ty
FXA 1 $T AN 9 B MG 9@ B! & TIIF B9, TR FART TR Tar 7 21 97 Hfi-w ot arar oft 2,
aghéfﬂﬂgg%uaéammﬁﬁm%laﬁ?mw{ﬁﬁﬁﬁmmmm%mﬁ,mmm
T |

ST TR B TP 14 I T UY HT 39 94154



WS- Ugd BT | fhaeT yraTers faor fosan wan g2
1. 3TEHT T

2. GRL3HT T

3.59H ¥ P

4. 9¥F ST &l

Correct Answer :-

o T3 B

11) WG ¥ 7T G SIS FFSET THE S1aT @1 g9 o fhdt St F ugd gl $T JaE P Hel Ied 8,
at I T FHEd T | TYT TIYT d9PB 3 qT 3qb WA, IS fFARTUg wigwar A 3/ us uedt ¢ & 8, s9er
e T far o wwan T W7 AR 7, sadt 83 T 9t M 81 Righ &1 T U yRor HR At 31 pam ot
g4 9 TR 8, afed FW-0 I it iy o § wrar B, frg 719 B wft iy e 78 g, 9 3@
o= areY T 3 1Ry, 918 Ok TR, 91 g5 U 91 $T9 &, 39 dgY R $ ey ot o oft At
s Tt v ¥ 918 THTY AR $Ad R a1 8, W E af 39 Ht G g T @ I AeY W W
faure Wl v & o e 81 gE@-g:, gi-ary o qun A 3@ sgad 76 San wiay-afva & o
701 €, 3 Tt A WRTHTET H1 UgT T §, W 3 IH 99 E Hedl 8 | TGIUN BT Fa-T 3FIER! Hard
HreTu TR & oY Suged e €1 3R 7, yRaarRa! # ankiet  Far gaun 81 W 82 T ervdfilet # 3%
T 181 fear wirar? S9R R1E T8 fia, TR U0 uug & fU aure) TEd €, ot dS®) BT 374 ©, fhul |
ASTS-FAIST 78] H, IR 91 DR TH W7 o1 § fbR ot Igam §1 Fe1 9irar 8, Q Siiaq & smexf &t =
FYd &1 3R 9 3¢ BT A9 TR A 37 TG 1a ) e T Fgaq avrd | F1u &) e arm= 81 T &
oo = 39 SR @1 Jw sfaal § v 741 faan | Afe= 19 &1 v Ster uig o oft 8, o Suw & § e B
3R 98 ? oo | For ordf F g9 YT &1 YA $d 3, $O S A FHrera-gera o A afvar & arsy &1ty
FYd | T AT A9 P! MG 9B B! § GAIE Fa4l, TR gURT faar T 181 1 9a Fuft-wff arar ofi g,
$sﬂéfﬂa21&%%uaaaméaﬁﬁm%| 3R ft B Sl F ST SRIAIY UPHe TR AT 8, ATd IHDT I
T |

ST TR P TGP A9 YD T Uy HT IR ga1sd:
UH- ‘I-a1Y’ § S |1 A 22

L TR

2. FAURT

3.%¢

4. degey

Correct Answer :-

12) SHERI § 7T Ga TSI gl A SraT 81 9 o fpeft e #) ugd ool 1 Ja%® el a8 §,
A I YT FEd &1 YT TIYE I9@ P € I1 ITP WAU, TS| RIS FRwEr 7 39 98 uedt ¢ Y 8, s
e €Y fopa = wepan| TR AT AR €, <) 8§ T Y 3T € Rig &1 9 4R HR A<t 81 pm ot
g4 TR TR 8, afed F-30 I oft sy o § wrar B, fog 719 3t wft swry wwa 8 g, A 3@



fora=T T8l T # URY, TR o TRIE, TS g3 U A 3T 6, I9P A8 W HHY sty #t o1 oft a8
fearg 3| Sur @ AR THTY IR HAd P AT €, W HA df 3@ W G g e @1 IqP e W RS
faure Wl v & o e 81 gE@-g:, gi-ary et of qun A 3@ sqad 76 San wivay-afa & o
701 €, 3 Tt A WRTHTT H1 UgT T §, W 31 IH I9FE Hedl 8 | GIOUN BT 3a-T SFIER! Hard
HreTo= TR F oY Suged I8 @1 AT A, URaaTREl F npieT § T go=n 8 6 82 Tt SmdieT df 3%
g 18 faar Sirar? dur IR1E 8 i, IR 39 $ung & e a9 wd §, oft dise) a1 ad €, feedt @
ASTS-FAIST 781 H, IR 91 DR T W7 o1 € fbr oft Igar §1 Fe1 orar €, Q Siiaq & smexf &t =
Fd &1 3R q 3¢ BT a9 TR F 71 W@ o1a &) UE [ Heaq a1 | SrarH ») e aea g1 v &
oo = 39 SR @1 Jwg sfaal § o 747 faam | Afee 19 &1 v Ster uig o oft 8, o Suw & § e 3
3R 98§ oo | form ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o 7 'afar & arey &1t yam
Fd | T AT A9 P! MG 9B B! B FAIE Fa9l, TR gURT faar T 181 31 9a wuft-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél IR Y < Hfadl V SUAT ST UPHe HY a1 ], 3AUd ITDT R
T |

ST TR F UgHR 12 IR Y UY HT IR gaTsd:
TH- Y@ g A B A Hyw R

1.3H @ FIg AL

2. STTaATS

3. SIfdarde

4. Fhardas

Correct Answer :-

13) SFER] § U7 WA SUTCT §iG el THS SITdT 8 | 84 o el el &) uga oo T Sa@® He-1 daed 8,
Al S T HEd 1 T JIHT 999 @ T SHP WY, IqH ARG FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 forar S wran | T WM AR €, SAdh g5 T @ oA g Rig BT U YR HR At 71 F o
g4 TR TR 8, afed F-0 I it sy o § wrar B, fog 71 3t wft iy e 78 g, A 3@
fra 918! e 3 AR), IR SRA TRE, TS §F 9 ArA ST o, SUP deY W HUt sRiaiy & srar off gt
fears Tt Azme W AR TP IR $AT B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg wirdt =u @ B T 31 g@-g:F, gi-ary e ot qun § 3@ gead 7@ <@ wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UET T §, W 3TeH I8 I95® Hedl &1 U T SaT SFTGR! Bl
WUTT FOR S RIT Iuged & 81 IRT 7, WRAaTRar Bt avpiet & g1 goun &) @ 2 7 st § 39
g 18 faar Siram? dur IR1E 81 fia, IR 39 ung & fIe 9 wad g, oft dise) & od €, fedt @
ASTS-ZAIST 78] B, IR 91 DR TH W7 o1 @ fbR oft Igam &1 Fe1 orar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T W o1d ) UG [ Hgaq a1 | Srar s e 9 g1 v &
faorg A 3V IR F g sifaal A 7oy 9471 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S 9 FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Frera-gera ord A afvar & arsy &1ty
YA &1 PO AN A0 D) AE JaB!  FAAY Hil, IR gART fAR 01 78 81 90 Soft-poft Arar ot 2,
agﬁéfﬂﬂg%%uaéama@ﬁﬁm%lsﬁ?mﬁﬁﬁﬁﬁmmmmam%,mmm
T |

ITYe T 61 USH AR YD T ¥Y BT I Td153:
U~ YT BT BICT HTS HET SITdT 82

1.9



2. d
3. gfear

4. el

Correct Answer :-

14) SFER] § TUT HA SUTST §iGE THS OITdT 8 | 84 o el el &) ugd oo T Sa@® He-1 ded ¢,
Al S T HEd 1 T JIHT 999 @ T SHP WA, IqH! FFR1ug FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 foran S wrar | T WM ARG €, Sadh g5 T @Y ST g Rig BT U YR B At 71 P o
954 TR TR 8, afed F-30 I it sy o § wrar B, fpg 71 3t wft iy o 78 g, A 3@
fra 918 e 3 aR), IR SRA TRE, TS §F 9 ArA 319 o, SUP AeY W HUt sRiaiy & srar off gt
s Tt Az W AR TP IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg vt =u @ B T 31 g@-g:F, gi-ary e ot qun § 3@ sewd 7@ < wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UgT T §, W 3TeH I8 I95® Hgdl &1 U T SaT SFTGR! Bl
Hrero HR F Y Suged e 81 AT A, WRAaTRIG) $1 Pt A w1 4w 8 6 2?7 i it § 37
g g faar Siram? dur IR1E 81 i, IR 39 $ung & fIe 9 w9d g, oft dise) & wd €, fedt @
ASTS-ZATST 8] Hd, IR T DR TH W7 o1 @ fbr ot Igam &1 Fe1 omar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T WA o1d ) WS [ Hgaq a1 | Srar &) frara 9 g1 v &
faorg A 3V IR Ft g sifaal § 7oy 9471 faar | AfFT 19 1 TP Bier WiE 3R oft 8, S 9 FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Fhrera-gera ord A afvar & ars &1ty
FXA 1 $T AN 9 B MG 9@ B! H TIIF B9, TR FART TR T 76 21 97 Hfi-w ol arar oft 2,
agﬁéfﬂﬂg%%uaéama@ﬁﬁm%l 3R Wt #F Aol J vAT SRAAT Upe B AT 8, 3AUd ITDT I
T |

ST TR B Ugh 1 U 7Y UY $T 36X JaIsd:

UT- U €1 g g A fb 3 &) g wnfady ) 4P & @t o< faar?
1. ARG

2. 3TANERT

3. ST
4, 3TSHTepT

Correct Answer :-

15) SIERY § U7 WA SISl §igel HS SIIdT 2 | 9 o el 3mef &) ugd aof 1 Jag® He1 aed 8,
A 3R YT FEd &1 YT TIYE I9E P € 91 ITP WA, P! FAR1UG FRwEr 7 3 98 uedt § Y 8, g9
frerg &Y fpar w1 wepar| TR W ARG €, T g T Y e € Rig BT 0 4R B At 1 o oft
9gd TR TR g, afed F-0 I oft sy o &t wmar 8, fog 719 &t wft sy wvad 18 g, 9 3@
foraa T8l T ) URY, TR o TR1E, TS g3 9T ITHA 3T 6, ISP A8 W HH sty Ft o1 oft a8
foarg 3| 3vre A 91’ Y 9R FAd B AdT 8, W FHA d@) I/ Fft g g 78 @M IHS AW W WS
faure Wl v & o/ B 81 gE@-3:, gi-ary et of qun A 3@ sqad 76 dan wivay-gfva & o
T §, 3 goft ST WRISTY H) UE T §, W 3ATeHY SA I95 P Hedl @ | TGO BT g1 3[TER! Barfrd



HreTo TER ¥ oY Suged I8 81 AT A, URaarREl Y snpieT § T g 8 6 82 Tt srmdieT df 3%
g 18 faar Sirar? dur IR1E 8 i, IR 39 $ung & e a9 wd §, oft dise) a1 ad €, feedt @
ASTS-FATST 78] Hd, IR 91 ISR T W7 o1 € fbR ot Igar §1 Fe1 oirar 8, Q Sfiaq & smexf &t =
P 81 3R 3 S BT a1 IR F 71 JG 919 ) TS 939 Hga a1d | SIu= $t e 9 81 v 6
faora 3 3/ TR ot g Srfaal A 7ug 597 faan | e 71 &1 T Ster uig iR ot B, S 39 Hu d e g1
3R 98§ oo | form ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o 7 'afar & arey &1t yam
Fd | PO AT A9 P! MG 9B B! & FAIE Fa9l, TR gURT faar T 181 31 9a wult-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél 3R ft F Al J AT SRIAY UPpe PR AT 8, 3aUd IHBT R
T |

ST TR F UgHR 12 IR Y Uy HT IR gaTsd:
T YT WY SaR B o1’ I W IS B -

1. T

2.5 | Pg G

3. 0gd

4. qarghr

Correct Answer :-

16) SIFER] § U7 WA SUTCT §iG el THS SI1dT 8 | 4 o Tl el &) Uga oo T Sa@® He1 ded &,
Al S T HEd 1 T JIHT 999 @ T SHP WY, IqH ARG FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 forar S wran | T WM AR €, SAdh g5 T @ oA g Rig BT U YR HR At 71 F o
g4 TR 9 8, afed F-0 I oft sy o § wrar B, fpg 71 3t wft iy wwad 78 g, A 3@
fra 918! e 3 AR), IR SRA TRE, TS §F 9 ArA 319 o, SUP Aoy W HUt sRiaiy & orar off gt
s Tt Az W AR UHTY IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg vt =u @ B T 31 G@-g:F, i-ary e ot qun § 3@ gead 7@ < wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UgT T §, W 3TeH I8 I95® Hgdl &1 FSUIT T SaT 31! BT
WUTT FOR S RIT Suged & 81 IRT 7, WRAaTRrar Bt anpiet & g1 goun &) @ 2 7 st § 39
g 18 faar Siram? dur IR1E 81 i, IR 39 ung & fIe 9 w@d g, oft dise) & od €, fedt @
ASTS-ZATST 78] B, IR T DR TH W7 o1 @ fbR ot Igam &1 Fe1 orar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T W o1d ) UG [ Hgaq a1 | Srar s e 9 g1 v &
faorg A 3V TR Ft g sifaal A 7oy 9471 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S S9E FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Frera-gera ord A afvar & arsy &1ty
FXA 1 $T AN 39 B MG 9@ B! H TIIF B9, TR FART TR Tar 7 21 97 Hfi-w ol arar oft 2,
aghéfﬂﬂgg%uaéammﬁﬁm%laﬁ?mw{ﬁﬁﬁﬁmmmm%mﬁ,mmm
T |

ST TR B UHR 14 T T UY HT 39 9d154:
U=H- YT BT ygigar 82
1. QIR

2. 301
3. AT

4. 9J1



Correct Answer :-

17) SHER) § TUT G TSI giSE A S1aT 81 9 o fpelt e #) ugd g 1 Ja% W el 918 ©,
A SV YT BEd T T TIGT TP P § U1 SUP VAT, IS FRIUS ARwEr A 39 98 ved S § 8, sHdT
e Y far o wwarn A AT AR 7, srE 83 T 9t M 81 Righ &1 TU 4R HR A 71 par o
9gd TR TR 8, afed F-0 I oft sy o § wimar B, fog 719 3t wft iy wva 8 g, 9 3@
=T =reY T F ARy, 98 Ok W19, 91 g3 U 9T ST9 &, 39 de¥ R H sy it o oft At
s Tt Izma ¥ 918 THTY AR $AT R AdT 8, W THA a1l 3@ H G B T @1 I AT W RS
faure Wl v & o T 81 gE@-g:, gi-ary et of qun # 3@ sqad 716 dan wivay-gfa & o
07 §, 3 9t S WRTHTET B UgT T §, W 3MeHI IA I9G® Hedl & | IGIUN BT 5T 3FTeR! Harad
Hremo TOR & g Iugad w81 81 AT 7, URaaRmal #t snpier & war ga=nm g 3 82 | s #f 3%
g9 8 faar Sirar? dar TR1E T8 fi, IR 39 $uug & e 9] 1d §, oft dise) a1 wd €, fhedt @
ASTS-TST Tl R4, TR ITd B 7T @1 91 @ e Wt s &1 w1 wirar B,  Siaq & sime=f & far
FRd g1 3R d 3¢ BT FATd TR A T WG o1d ) G [ Hga ard | S ) Frara 9= g1 v &
faorg A 3Q TR Ft g sifaal § 7oy 9471 far | AfeT 18 1 U Bier Uig 3R oft 8, S S9E FH S e gl
3R @5 ¢ der | fore o & g6 TTUT BT T4 HRd &, $O S ¥ fHerd-gad o A afsar & ars' &1+t wa
Fd | T AN A9 P! MG B! § G9E Feal, TR gURT far T 78 1 9a wft-aft arar ofi ,
m&ﬂéﬁ%@uﬁaﬁaﬂ%@%ﬁm%l R oft S At F 39T ST Yebe FR AT B, 3T SHHBT R
T |

ITY TR D1 USHR A I T ¥Y BT IR T4133:
w=A- YT fou Y el # @« g2

L. gfeatar

2. Efferar

3.59H ¥ Pl

4. 39T

Correct Answer :-

18) FraT T FIAY oaT, WA srar Wl
Aie 9o #Aar s, S wdR A

ATENET I I §6T S FATE
HHAThS AFHAT I 3T 331 I 7 i

3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R I8
yedA- Hfer ¥ F41 dAead {7

1. e

2. shisT

3. el



4. hol-hel dgedl

Correct Answer :-

19) FreaT Y FIEY s, TATE AT WA|
AT T Ar o, A FER AH

AN GIT ST §AT Hfer Ffe
HHaThd HHaT T 3 3 Iaa T S|

39T I Y YGHT Al T AT YT FT I TS
wee- FH USE §7?

1. gfeT

2. Eiferar

3.39H ¥ PS5 AL

4. 39T

Correct Answer :-

20) SraT T FRA o, AR ST W)
Ae o1 HAar a7, S wRT S

AN GHT ST §AT Hfer FAfy
HFATGS AFAT I 3T 331 391 T M|

39T TSI Y YGHT Al T AT YT FT 3o qaqBA:
TeA- ‘FHT Hfer HUR GFT & FieT AT HAPR &2
1.8y

2. JAD

3. ®Uh

4. 3URT

Correct Answer :-

21) FrET BT FEY srn, AARY s WA
Ale o1 Aar a7, S wR S



AAGNET IR T AT Hf Ffe
HHAThS AFHAT T 3T 331 31 7 )

39YFA ISIIT Y TgHT Al & AT YT FT 3R I8
WA- ‘AFATRer H FNT A GAH 87

1. g8

2. ITTAHT

3. dcgey

4. FIAURT

Correct Answer :-

o ITAHET

22) FraT T FE s, AR o W@
Ae 9o #Aar s, S wERT A

AAGNET IR T AT Hf Ffe
HHAThe AFHAT 3 3T 331 31 7

39YFA ISIIT Y TG Al & AT YT FT 3R I8
ee- USIRT & AR EAT F GArgar 7@ 82
1. ggeusat
2. frqaer
3. ATl

4. ATcHAUET

Correct Answer :-

23) FraT 6T FIAY o, AR srar Wl
Aie 9o #Aar s, S wdR A

ATENET I I §6T S FATE
HHAThS AFHAT I 3T 331 I 7 i

3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R I8
Y- GEIIY F HIAR AATIGT & Hi F1 3mery §7
1. dhael IeAfcHAS Sae

2. el TR Sia=



3. FT Pl {T S aTell
4. grae Sshaa 31 rearfcas Shad aar

Correct Answer :-

. e Sfaa 3R cafcas siaa aar

24) FraT T FAT s, AAR AT W@
Are g1 #Aar s, S FERT S

AN GIT ST §AT Hfer Ffe
HFATHS HHal It 39 33 I T A0

39T TGHNRT Y YGHT AN T AT YT FT I TS
Y- FFATRer HT qaiard §?

LR

2. <Y

3. |l

4. A

Correct Answer :-

25) @rar T FRAT o, AT s W)
AT T Aar o, A FERU A

AN GIT ST §AT Hfer Ffe
HHaThd HHaT T 3 3 Iaa T S|

39T UGHNT Y YGHT Al T AT YT FT I TS
URe- HeAd HT GATATLT UsE § 2

1L

2. 3TER

3. 37d

4. 3ThIRA

Correct Answer :-



26) F1aT BT FAY o73T, AT o1 WA
Ae I #Aar s, S FRT A

AR PR ST gaT Hfax FUfy
HHAThS AFHAT I 3T 331 391 T T

39YFA ISIIT Y TgHT Al & AT YT FT 3R I3
WReA- ‘FAT HT GATIQTEr 82

1.a

2. 3Fd

3. feFer®

4. didA

Correct Answer :-

27) F1a1 BT FY o3m, AATE AT WAl
Ae g1 #Aar s, S wRT A

ATTEIET PR ST gaT Hfax FUfy
HHAThA AFHAT I T 331 31 7 T

39YFA ISIIT Y TG Al & AT YT FT 3R I3

ved- FET H FET HR THA F @F FgA T FAT A9 8?2
1. ST HI

2. JATET T

3. heeXdl Pl

4. H=IT BT

Correct Answer :-

28) FraT T FT 8T, WA o W@
Ae 9o #Aar s, S wERT A

AAERIER PR ST &A1 Hfer FfE
HHAThe AFHAT 3 T 331 31 7 i

39YFA ISIIT Y TG Al & AT YT FT 3R I8
g ‘FTH F YEY T § ?



1. aref
2. T
3. iy
4, Hdr

Correct Answer :-
o 1Rl

29) FraT f6T FIAY arT, TAR srar Wl
Aie 9o #Aar s, S wERT A

ATENET T I §T S FAE
HHAThS AFHAT 3 3T 331 I 7

3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R IA8:
Y- ‘HEFATRe qwal T 9fFd F Pl @1 edER §?
1. JHAD

2. 3T

3. 3o

4. ®Uh

Correct Answer :-

30) FreT AT AT s, AR AT WA
Ae g7 Aer o, S FwERT S

AU PR I ¢ Hf Ffe
HHAThS HFHAT I T 331 I 7

39T UCHNT F YGHT Al T AT YT FT I TS
geeT- ‘HIET AT §7

1. FIATH

2. g1

3. foma

4. fayor

Correct Answer :-



Topic:- Social Science (SSC)

1) Who is the political head of Cabinet secretariat? / Hfi¥Hsd GRaray &1 IeHfae TE $iH 82
1. Prime Minister / TUTAHAT

2. Secretary / @fId
3. Cabinet Secretary / ATIHSH AT
4. Cabinet Minister / hidete AT

Correct Answer :-

« Prime Minister / TTAHAT

2) What is also called as the ‘Hare system’? / ‘8% UGfa’ &I 3R T HgT STl 82
1. List System / QiL_tﬁ (feree) gomrelt

2. Alternative Vote System / dehfoteh dic UoTTelr

3. Category Based System / A0fT (hearl) 3TUTRT HoTTelT

4. Single Transferable Vote System / Tdhel EEATARONT dlc YUl

Correct Answer :-

« Single Transferable Vote System / Tehel EEAIARONT dlc YUl

3) Which is not a part of the National Action Plan on Climate Change? / f5® & & &9 Seldryg

ufad W IMETT S FieT 1 fewar 78 82

1. National Water Mission / QT@H od fHeE

2. National Mission on Pollution Control / ITEII JeuoT IGREMRE-RE

3. National Mission on Sustainable Habitat / ITET Tdd TATAROT TARM

4. National Mission for Sustainable Agriculture / IET URUNY HiN fHAA

Correct Answer :-

« National Mission on Pollution Control / ITEIT Jeuur IGEEMEERE]



4)  Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

afef@a =1 T =4

1. T 3Eres A. TTEAF (1936)
2. AT TEE B. [ (1928)
3. IRERN TcdRIE C. T (1922)

4. H@ ARET FEa F34T | D. 919 (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3. 1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / RE@HE B ?Fla?
AP b SR GH-T-TFH B I & 7€ A

1. Jahangir / STl
2. Humayun / g'cFI'ITi
3. Babur / dTeX

4. Akbar / 3HPhaX

Correct Answer :-

e Humayun / g'cFI'I?i

6) Active learning starts by posing questions, problems or scenario. This is best represented in: /

ferg fRreror e, Tuwrai a1 ufiewa &) U @31 @ RY BT 31 3YPT a9 33T We=i+ ;]
1. Problem-based learning / HHAEIAT-ATUTRA TAITH




2. Technology-based learning / Siaifarhr-3meamia 3ifema
3. Inquiry-based learning / 3f=dvor-3maTRa 3ifAra
4. Activity-based learning / Jfafaf@-smamia sfQera

Correct Answer :-

« Inquiry-based learning / 3f=awor-3maTiRa QA

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to unscientific

human intervention. In which country is Aral sea located? / ‘3{Rd IR’ ﬁ"ﬂ' & g9 a:‘ﬁ Eﬂ?ﬁ'
gﬁymiwgaﬁm%wwaﬂ%?wqﬁmﬁwﬁﬁ%l 3RT IR 5
' ?

1. Kazakhstan / ShalT &
2. Estonia / TECIAAT
3. Latvia / SITafaar

4. Venezuela / aﬁw

Correct Answer :-

« Kazakhstan / ol gEdTT

8) is a system introduced by the government where the issue price of food is much lower
than the market price to enable the poor to purchase the subsidized food. / HIDR IR

I B 15 TP Yumal 8, o afSrst are HieH 31 @i & fore el &1 9&m #31 8g
Qe ST &1 A Heu 9ok o0 & 989 $H T e

1. Peoples Distribution System / STl TaaRoT GoTell

2. Public Direct Service / @Tdolieldd UcdeT TdT
3. Public Distribution Scheme / AT TIA0T ATSTAT
4. Public Distribution System / HTdelicies TIdI0T JOTTelT

Correct Answer :-

« Public Distribution System / @Tdsl{cid fIaRoT HoTTelt

9) vote is exercised by the speaker in the house in case of a tie where in equal numbers of
members have voted in favour or against a bill or resolution. / FHFGT (¢15) F! fRAUfY A wafe A9y



YT YT & U T faRIY W Hedl 91 IHH 9. 1 1 fha1 81 99 Ueq H 3rehef gR1 Hd BT SUURT
o wIrar 81

1. Absolute / f[ARU&T (TeaeL)
2. Primary / S| IE O
3. Relative / i
4, Casting / GIIRED

Correct Answer :-

« Casting / F@0TIH

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /
Frafafed gemsii/ sigiadl #1 3% HTawH & IR el HH H R B
1. AfrATaTar SN gATHIS

2. fadfra afaTa srasm siigie
3. ATISHA HHIRM BT SeshR
4. YRd Bl figia-

1. 2-3-4-1

2.1-2-3-4

3.1-3-4-2

4. 1-3-2-4

Correct Answer :-

e 1-3-2-4

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / ?ﬁq a’ﬂ '&IEIT gk ?ﬁﬁl’

e Hid-guur # s fRufa &1 feror far man 8:
1. Weavers / W



2. Indigo Planters / rel &M JTeht

3. Landless Labourers / ${f&eled EFIGIQ:\'”l
4. Bengali Artisans / S9TTell ShIRIIRI

Correct Answer :-

« Indigo Planters / Tel &M U

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / Wﬁ'
Rrarel ggRT &1 {5 af WRTST e & FU | 161 UgHET T™T U2

1. 1680
2.1674
3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative
marketing of agricultural produce for the benefit of farmers. / TFR & framel & amr & fav R
39S & WEPR! [AUvT # qomar & F g8 T W #Y qTIATT A B

1. National Agricultural Confederation Management Fund of India Ltd. / Aol Tdflhodlel PIhEIT

2. National Agricultural and Commerce Management Federation of India Ltd. / JA%Tdl THdhedR TS PHIFAT
Haoreie had 3w sf3ar fafees

3. National Agricultural Cooperative Marketing Federation of India Ltd. / STel Tfidhealel Fr3aRfea
HArhEar Hsyer 3 sfEar fafdes

4, National Agricultural Cooperative Management Federation of India Ltd. / Aol Tdlhedlel PI3RIea
Ao B 3 sf3ar fafdes

Correct Answer :-

e National Agricultural Cooperative Marketing Federation of India Ltd. / SA0el THIheald PI3TRIET
A& haere 3 sf3ar fafdes

14) Right to Education Act came into effect on . | e #1 AR FfRFEd
__ # «ny gam



1. 1 April 2010 / 1 310 2010
2. 1 March 2011 / 1 A& 2011

3. 1 February 2012 / 1 BRax} 2012

4.1 May 2009 / 1 #S 2009

Correct Answer :-

« 1 April 2010/ 1 3/5d 2010

15) is the difference between the value of a country's imports and exports for a
given period. / , fordlt & a8 safr & fow el Sor & s 3k e et &
AT F1 3w B

1. The Balance of Economic growth / e faem o1 FFQK'F[

2. The Balance of Payment / YTTdT= T g

3. The Balance of Trade / <dIUR &I {-igoio-l

4. The Balance of Exchange rate / fafaded &3 &1 Hﬂ?l?f

Correct Answer :-

o The Balance of Trade / <IMUR bl HF_[FI?T

16) Rajukas appointed by king Ashoka performed the following duty? / IS 37 GaRT
fagea ao@t & fArafaf@a wdea fasmam?

1. Revenue / oI
2. Religious 7 BNEEY
3. Military / &g

4. Judicial / =ITIAH

Correct Answer :-

o Judicial / =TT AP

17) MRTP stands for . THIER FT Ega w9 gl

1. Monopoly & Restrictive Trade Prohibition Act / el U5 I¥cfdea ¢ wifefara vae
2. Monopoly & Restrictive Trade Pact / FlAltlell U8 Y¥cided ¢g Uae

3. Monopoly & Restrictive Trade Practices Act / FlATGTell Us Iefdea ¢g Ufdead tae



4. Monopoly & Restrictive Trade Prices / AlAMdTell TS I¥cided ¢35 UBoid

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act / AlAItlell U8 Ikeided ¢& UfdFead tae

18) At which places are the cave paintings found? / I[%T R (4f&Tw) e ¥ue T aiw S

82

1. All the above / SURIh Y

2. Bhimbetka only / thdel HHACH
3. Badami only / hdel dTGraT

4. Ajanta only / dhdel 3aidl

Correct Answer :-

« All the above / 3WRIh T

19) Ashtapradhan was the official council of: / ST sHHT IHTAFIRF IRYE T
1. Mughals / W Cal

2. Marathas / FRTSI3N T

3. Afghans / 3TRATAT T

4. Rajputs / Tr\_rl'%_-ﬁ Cal

Correct Answer :-

« Marathas / #ITSI3T T

20) In which among the following years, did India conduct series of nuclear tests? /

farafaf@a & & frw af &, sRa & wRaAT) gderont At yEer w9 IrAST 2
1. 1998
2.1997
3. 1999

4. 1995

Correct Answer :-



21) Who has the monopoly in issuing currency notes in India? / R £ ) #Har @) A S
& H frasT tHRFR 872

1. Commercial Banks / aTf0TTeaed o

2. NABARD / ATeTS

3. Ministry of Finance / fad #ra7era

4. Reserve Bank of India / IR Rad &

Correct Answer :-

« Reserve Bank of India / ARAT Rord J&h

22) Who was the President of the Constituent Assembly? / GfAtTd THT & 3rega] HiT 4?2
1. K.M.Munshi / .7, HM

2. H.C.Mookerjee / T2 8. EI@Gﬁ

3. Dr. Rajendra Prasad / 3f. qsig UdIG

4. Dr. Ambedkar / 3f. 3FagaT

Correct Answer :-

« Dr. Rajendra Prasad / 31. Tsig UHIG

23) Who gave the famous slogan “Garibi Hatao”? / "3i{ldl} ge13n" T qﬁ{ﬂ' AT fRaa
fe=am?

1. Rajiv Gandhi / refia Imefy

2. Jayaprakash Narayan / STIUDIR ARTIUT
3. Indira Gandhi / 3f¢r amef

4. V. P. Singh /dl. o). &g

Correct Answer :-

« Indira Gandhi / 3fer amefy



24) Who is the proponent of social recitation method? / WIHII® HER 915 ggufa &t
YEaIa® FieT 82

1. Max Weber / Ha® deR

2. Karl Popper / dTel TR

3. Auguste Comte / 3T PlFe
4. Adam Wesley / US3dH dTal

Correct Answer :-

« Adam Wesley / TSH d¥el

25) Who was well known as Lokhitwadi? / fheg aSRdady & ¥ & =T SATAT 912
1. Gopal Hari Deshmukh / INaTeT %‘& é{‘\’l?i'@

2. Jyotibha Phule / Saifdar gﬁ

3. Ishwar Chand Vidyasagar / %R ¢ faamameR

4. M.G. Ranade / TH. Sff. TS

Correct Answer :-

« Gopal Hari Deshmukh / aTdTel &3 a'i’l?j'@

26) A teacher gets immediate feedback by conducting J T arw &
AN G@RT dehlel Tfayfee yred Ham gl

1. programmed evaluation / PIIhHATE d-Lcréliqvo-l

2. summative evaluation / JRIcHD Hedihe
3. diagnostic evaluation / Il EFE&W
4. formative evaluation / fAHTOTcHAD Hediehd

Correct Answer :-
« formative evaluation / fAATONCH® W

27) According to the Constitution, India is best described as a ./ WY & HJHR, AR
I gIG IS & 0 # aftta faam arar 3



1. Union of States / ST &l TG

2. Unitary State / TblcHh I
3. Sovereign state / in'l;ﬁ]j(—a Ry

4. Federation / el

Correct Answer :-

« Union of States / <A1 &l Y

28) India achieved self-sufficiency in food grains by the year ./ ART o a¥
d% WIghles # ATcATAIRar griier $

1. 1956
2. 1986
3. 1996
4. 1976

Correct Answer :-

- 1976

29) has replaced the Planning Commission of India. / A HRAT Irsrar
HERT FT T o fom #

1. Antyodaya Anna Yojana / ¢l e JIStell
2. Yojana Upay / JSTlT 3UTT

3. Yojana Aayog / ATl 3TANT

4. NITI Aayog / iifd 3T

Correct Answer :-

« NITI Aayog / Aifd 3mrer

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

fader & v Rgfiat #r aftes gauh wfsamal a1 FARET F ggaEen &
¥ H =T AT B

1. Unit test / 3ehTS TRTETOT



2. Diagnostic test / SGITeidh GI&TOT

3. Prognostic test / yeifaere adieor
4. Achievement test / 3T TLIETOT

Correct Answer :-

. Diagnostic test / =iGITeldh TIT&TOT

31) The major objective of dramatization in the teaching of social science is: / HTHIfSIS AT
¥ fAeTor F AP TR FT I 3557 fas FI& g &

1. Comprehension / &Y
2. Knowledge / T
3. Research / 3-1§T[QTIFT
4. Application / 3TTdGel

Correct Answer :-

. Comprehension / aI¢T

32) The ‘Panchsheel’ agreement was signed between ./ ‘gaefier gasla @w &
ALY gEaei fee o

1. China and Tibet / it 3R fdeaa

2. Pakistan and China / OTfehedTel 3R @i
3. India and Pakistan / IR 3R urferedta
4. India and China / IRT 3R @i

Correct Answer :-

« India and China / ARd 3R &

33) The age of the earth according to majority opinion is: / Elg'ﬂ?l’ & AR, ‘:‘I"%ﬂ’l' $r g .
1. 40-50 Billion Years / 40-50 faferae ay

2. 4-5 Billion Years / 4-5 faferaar aw

3. 4-5 Million Years / 4-5 faforaet a¥



4. 1-2 Billion Years / 1-2 faforaa ag

Correct Answer :-

« 4-5 Billion Years / 4-5 faforga ag

34) The strategy that enhances student knowledge and enables them to acquire collaboration,
communication and independent learning skills and prepare for lifelong learning is: / dg

WA St o1 AT & Ferdt § AR I7E FgAhT, ¥R iR TaaT it sk groa
A 3R e IR F AT a7 9 §:

1. Written assignment method / forf@&d WQH ugfd
2. Project method / URIATSAT Ugia

3. Practical method / UANTcAD TGl

4. Demonstration method / GHATONAIOT Ugia

Correct Answer :-

« Project method / URIASAT ugfa

35) The advantage of discussion method is: / TaT fAfr &1 fAFT am9r §:

1. Emphasis on learning instead of teaching / fI&T0T & =i 1A WX IR
2. Emphasis on learning with lecturing / SITEIT & ATY FTAIMH W IR

3. Emphasis on learning with technology / SaifardhT & @y 3ifderd o SR
4. Emphasis on learning with activity / @II®ed & ATY AfAMH W AR
Correct Answer :-

« Emphasis on learning instead of teaching / TU&0T & Iomg HYITH W IR

36) The only session of the Indian National Congress which was presided by Mahatma Gandhi
was held at : / TR ISET HTIT FT THATT TF AT Iregatar AglcAT el F $r off, Fgr
rafara fram arar o

1. Allahabad / elTgldIq
2. Belgaum / Se19T1d

3. Karachi / ST



4. Surat / Id
Correct Answer :-

. Belgaum / Sel9Td

37) The qualitative judgment of value and purpose is: / AT sk 3aRT &I
uITeAs Aok g §

1. Evaluation / HgdTdhel
2. Marking / 3ol

3. Examination / G31&T0T
4. Grading / ofreioT

Correct Answer :-

« Evaluation / EFLFJIW

38) NSE stands for ./ wTeHs &1 faEga w9 gl
1. National Support Establishment / TR-Td IO TR f&IRHE

2. National Statistical Economy / 12lTel TfeTEedhd SeheAlaT

3. National Statistical Enumeration / ATl FfeTEcdhd E?EFI'Q'QIT-T

4. National Stock Exchange / ARTTel T TFHUS

Correct Answer :-

» National Stock Exchange / A1Tel TCTdh TFddol

39) Which is not a characteristic of formative evaluation? / ®ie7 Ht faTver® Fearwea
v faewar ad @2

1. It is an integral part of learning process. / J& 3TTAIH &I UThAT PT Th IH{FeaT 39T B
2. It is generally a teacher made test. / I& 37 dR W Th AeTh gr1 AFT v advew g1

3. It pinpoints difficulties being faced by a weak learner. / I& Tch dhafolk AT & A= 3
aTell fsaASal & AT AT &

4, It does not help in the modification of instructional strategies / I Hﬂ??lldﬂaﬁ AT &
MG H A Ael P &l




Correct Answer :-

« It does not help in the modification of instructional strategies / Ig 3-]7:1?(‘\’”(-3455 IoTAfaEr &
qMYUA H A Al PIAT B

40) Which is not a correct statement? / AFTARAT A q FiT T & T FUT AT T2

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / S8 &I o E3ES

fafeer $ec sf3ar fuar 3R R STH & a9 &3 15 AN

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / JRT Taell Bth:[{
g fafeer 3R g o & @ oIs1 =2 A7l

3. Partition of Bengal took place in 1905. / S3TTel &l fIHTSIA 1905 H g3l

4. Queen Victoria took the title of Empress of India in 1876. / FeRI TAdeIRAT o 1876 H HARA
T @A b1 & urE fehar|

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / g&&X &$T o 5I§

fafeer $¥c gfear Huelt 3R fAR STt & = & 715 M

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ Gfatmr &
FlT AT Igee I IR FAR F RAAY & &

1. 369

2.368

3.370

4. 353

Correct Answer :-

« 370

42) Which of the following types of method gives priority to the individuality of the student? /
farfaf@a & ¥ fFw voR A A o F SaFasdar # wafmFwar &

1. Learner centered / it hfga
2. Teacher centered / &7 higd

3. Lecture centered / <ATEITA higd



4. Subject centered / TOWT higd

Correct Answer :-

« Learner centered / femeft higa

43) Which of the following is not one of the conceptual pillars of Human Development? /

frrafaf@a & ¥ 1 Awg Rew & dFoRe @l & ¥ ve ad
1. Sustainability / FEIRAT

2. Productivity / 3cUTgehdr

3. Equality / HHATAAT

4. Empowerment / HRITtheh{0T

Correct Answer :-

« Equality / GHATAT

44) Which of the following learning method is most effective in social science learning? /

faf@a & @ sia d 30w /A aees Ree s & e g &2

1. Learning by reading / Uoe gRT {1

2. Learning by rote memorization / o€ TAIUT GRT HATH
3. Learning by doing / fohamdcler QT
4. Learning by hearing / #d0T gRT A

Correct Answer :-

« Learning by doing / ﬁﬂl’l’il{?vl'iﬁ 3iferH

45) Which of the Indus Valley Civilization cities had a dock? / ﬁ'ﬁg e 9T gt fhe e
# sl o4n

1. Harappa , &stUl

2. Lothal / ool

3. Alamgirpur / ﬁWﬁTgT
4. Kalibangan / SToileIam



Correct Answer :-

« Lothal / oY

46) Which among the following is a critique of society and culture drawing from knowledge
across social science and humanities disciplines? / faFafaf@a 7 ¥ #lq, amnfas s e
s AR fawat F Ao qarr gae A wEfa A gder wwar

1. Marxist theory / HATFGaey Bgra

2. Class theory / a1 fgia

3. Critical theory / 3TelTdelIcdd G

4. Revolutionary theory / gRddarer Rgida

Correct Answer :-

« Critical theory / 3TTellaelca® Agid

47) Which country has presidential system and executive powers are in the hands of the

President? / fr® &1 & Trsgufa yomelt § 3R ey afFawr wseufa & grat & < &2
1. UK/ b

2. France / WIH

3. USA / JuadT

4. Canada / &dl3]

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt manner.
Which technique can be used to study his/her personality traits? /

UF Jed 9 HANF Hae 8,98 e B G alF ¥ Fad w1 § JfAegF @ qFhar
2| 39S IfFdca J&IU &1 HETTT I & (o0 fFH dhelled T TAWT FAT ST FhaT &2

1. Projective technique / URIANST dhelih

2. Dramatization / =ITchIT FTUTAR

3. Demonstration / JHATOTRIOT



4. Role play / el Tol

Correct Answer :-

« Projective technique / URINSA dhelleh

49) Which of the following is definitely achievable in a span of one period? / frfaf@aa & ¥ sla ARRaa
T ¥ UF IaEfT F e H ued @ a7 82

1. Ideal / 3G

2. Aimless / fa%ed
3. Objectives / 32T

4. Oversight / fa{r&or

Correct Answer :-

o Objectives / 32T

50) Who was not the leader directly involved with Khilafat movement (1919-1924)? /
s ¥ Fla ¥ A1 [Aele AEIE(1919-1924) ¥ yegaT w7 & 718 3 47?

1. Mohammad Igbal / FgFHAE Sehdlol

2. Mohammad Ali / HIEFAE 3cll

3. Pir Ghulam Mujaddid Sarhandi / 4R I[elTd FHllice HEar
4. Maulana Shaukat Ali / Hiemar Mied el

Correct Answer :-

« Mohammad Igbal / HIEFHG SehdlTdl

51) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of Yavanas

on the bank of River Sindhu in the hands of Vasumitra? / YTl R ATch ATATARISATHIH
fraer foraT a1, et Ry ot F e W g & gt gl 7 R F Ioa@ 91

1. Asvaghosha / 3ATENY
2. Harsha / &9

3. Sudraka / R[gh

4, Kalidasa / hreligrd



Correct Answer :-

« Kalidasa / @Tellerd

52) Due to which of the following winds, Central Europe enjoys a warmer climate? /

farafaf@a # & frw ga1 & FROT ALT QUT TF I FAAY FT A 37T 82
1. Bergwind / JIaad
2. Zonda / STiaT

3. Foehn / %hel

4. Chinook / Tareleh

Correct Answer :-

« Foehn / %el

53) What part of a tidal cycle has minimal current? / AR I% & fhy ST & el URT

gt &2

1. None of these / ST & ZI"T‘I'sL Tl
2. Flood tide / SaRIT 916

3. Ebb tide / HTeT

4. Slack tide / & (Feleh) URT

Correct Answer :-

« Slack tide / & (Felth) GRT

54) Which of the following is not a high cloud? / FFfAf@aT & & FlA-T1 3=T A (8
FAT3S) T8l 82

1. Stratus / T dTeol (@W)

2. Cirrostratus / G&TTH TI dicel (RRIFceH)

3. Cirrus / G&TTH dTger (RXH)

4. Cirrocumulus / U&TTH U dleel (FRIFgFHH)

Correct Answer :-



. Stratus / EI TG (F2H)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? / farafaf@a
# ¥ FiT Forefiarsor grede a1 FAEIER 98T (GEds ae) J6 3

1. Sahara / 9geRI
2. Veld / dos

3. Prairie / OY
4. Steppe / TG

Correct Answer :-

e Veld/de3

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / T%ﬁ W gEq IH
T A o fha o & Rua &2

1. Libya / eliferar

2. Sudan / gl
3. Congo / SRIITT

4. Nigeria / ATSSN AT
Correct Answer :-

« Libya / ofiffarar

57) The Treaty of Bassein was signed by on December 31, 1802 with the British. / 31
fewe, 1802 FY EaRT 3T F WY AT Fr G 9T granR A T an

1. Yeshwantrao Holkar / IYddRId G\Iﬂcbﬁ

2. Daulatrao Shinde /an @'Ié'
3. Ghasiram Kothwal / STHRTH hiddTel

4. Bajirao II / arsira 11

Correct Answer :-

« Bajirao II / arfRra 11



58) Rama’s Bridge or Rama Setu is located in which among the following straits? / I T @T'_l_,'

1 I ¥q faf@a & @ e @ & Rua 82
1. Cook Strait / $b &I WIS
2. Bering Strait / ST 6T @MY

3. Palk Strait/ UTeh STISHEHCY

4, Strait of Tebrau / €I® T EFI?[

Correct Answer :-

« Palk Strait / Olch STISHRHET

59) E%-Iearning in social science helps the students for: / e fag= | é’-?lﬁ'ﬂ BEl @i = A Hee
Pl &

1. Simulated learning / HHEAHA TAIH

2. Rote learning / &€ HIAITH

3. Learning by doing / ﬁb_éil'l?ﬁiﬁ 3TAITH

4. Anytime and anywhere learning / 3T 8 3R &gl off 31T

Correct Answer :-

. Anytime and anywhere learning / HH T 3R wEr ot 3fAorar

60) Where is Ring of Fire located? / 7 3T BrRR aﬁ}f@rd %?

1. Along the coast of Antarctic Sea / 3/eTdhicdh PR & de & a1y

2. Along the coast of Atlantic Ocean / 37Cellfcdh HEEWR & dc & 1Y
3. Along the coast of Indian Ocean / R FEMEPR & de & iy

4. Along the coast of Pacific Ocean / URTTd FEEWR & dc & 1Y

Correct Answer :-

« Along the coast of Pacific Ocean / URITd FEHWR & dc & ATY



